
Repeat Questions

Remember to:
• copy the Learn It
• write the Switcher
• bring the total (sum) to the front, change 

the symbol and write the 2 switchers

Example

2 x 9 = 18

9 x 2 = 18

18 ÷ 9 = 2

18 ÷ 2 = 9

1 2 x 4 = 8 2 4 x 5 = 20

3 6 x 8 = 48 4 3 x 5 = 15

5 4 x 8 = 32 6 6 x 2 = 12

7 5 x 6 = 30 8 3 x 7 = 21

9 9 x 5 = 45 10 7 x 6 = 42

Set 1



Repeat Answers

Remember to:
• copy the Learn It
• write the Switcher
• bring the total (sum) to the front, change 

the symbol and write the 2 switchers

Example

2 x 9 = 18

9 x 2 = 18

18 ÷ 9 = 2

18 ÷ 2 = 9

1
2 x 4 = 8, 4 x 2 = 8, 
8 ÷ 2 = 4, 8 ÷ 4 = 2

2
4 x 5 = 20, 5 x 4 = 20, 
20 ÷ 4 = 5, 20 ÷ 5 = 4

3
6 x 8 = 48, 8 x 6 = 48, 
48 ÷ 6 = 8, 48 ÷ 8 = 6

4
3 x 5 = 15, 5 x 3 = 15, 
15 ÷ 3 = 5, 15 ÷ 5 = 3

5
4 x 8 = 32, 8 x 4 = 32,  
32 ÷ 8 = 4, 32 ÷ 4 = 8

6
6 x 2 = 12, 2 x 6 = 12, 
12 ÷ 6 = 2, 12 ÷ 2 = 6

7
5 x 6 = 30, 6 x 5 = 30, 
30 ÷ 5 = 6, 30 ÷ 6 = 5

8
3 x 7 = 21, 7 x 3 = 21, 
21 ÷ 3 = 7, 21 ÷ 7 = 3

9
9 x 5 = 45, 5 x 9 = 45, 
45 ÷ 9 = 5, 45 ÷ 5 = 9

10
7 x 6 = 42, 6 x 7 = 42, 
42 ÷ 7 = 6, 42 ÷ 6 = 7

Set 1


